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Q.1 Following hormones arc included in amino nculsgl)lilj ;,,tumhrlnc " i
WAJ Oxytocin D) Nor-epinephrine T, -’
stimuli into rcsponscs.

B) Thyroxine ) .

Hypothalamus is the centre for conversion 0 5 T Nervous, sm'aOfy P,
) al, sensory .. ./

_ for

Q.2
A) Sensory, nervous on
D) Hor . released from
“Posle

Sensory, hormonal
k]
posten or p|tu1tary ,QQ‘

Both vasopressin and¥oxy(ocin are produced by
mus
polhala ) i
Iy, hypothalam 'J’

Q.3
action:
A) llypm}mlamus anterior pituitary uita
B) Anterior pituitary, hypothalamus )1’0‘“0”0r pllml produce any hormone?
Q.4 Which onc of the following parts stores and secretes, but d]?clsqmus
A) Anterior pituitary ¢) Hypothai titary "
B) Middle pituitary S plnu the nerve impulse from:
Q.5 ADH and oxytocin are released from their storage after receivi 1g|tary
Hypothalamus C) Posterior Il)l :d
B) Anterior pituita D) Thyrgll:l gla
Q.6 A battery nfﬁ'cTc/a%ng nanhlbllmg!hnrmones is released by:
A) Pituitary gland ~ C) Anterior pituitary
‘ \/m/'lypothalamus ’ D) Posterior pituitary
Q.7 ~Following are the glycoprolcm hormones, EXCI\;PCTTSTII
D) LH G)yco})vnfub\

—

A) FSH
B)TSH Glycoprden

Q.8  After puberty, STH keeps on prom'btmg lhc . C) Cell Jifferentiation

D) Metabolism

i Protein synthesis . _
p B) Cell division 4/' Y
Q.9 Acromegaly is caused by 4 TH before puberty
A) Undersecretion of STH. before pu'l) ﬂy ' C) oVersecrettl (:;:1 ?:;-SSTH after puberty
B) Undersecretion of STH after puberty \/Dyoversecre 1
Q.10 As is to female, W male
A) ICSH, LH . !2, C) ICSH, FSH
B) FSH,ICSH =~ . > : LH, ICSH o ci Mo A
Q.11 There is/are _* mode/s ,q‘l' actlon of hormones: s
: \A)yTwo f‘“"; % “:-\ ““““ s C) Four olol ja, Ye (6]75
B) Three y i & D) Single - EXCEPT:
Q. 12 Follpwm gonado rophic hormoncs share, a common hypothalamic factor, :
Pro Q.acMF ' C) LH
: ICSH

{ '>
"f \ '6\-6” J Pobgecpcc?gtor mechanism”, EXCEPT- e

 B) FSH e
Q.13 Followmg hormones adopt “Fw’__,_
A) Insulin . PrAS C) Calcitonin R
B) Oxy[oc")‘,%f&pho\ ‘. Q\ ) \%’)’ThnyXln ’710‘\4- /‘—"7‘
2.14 Ovyaries secrete/release . under the mﬂuence of FSH: FYrp Yophilliz
A) Proosterone o - €) Ovum™ hydeep
Estre sen oy, 4 i A dl‘abe,(_u J)) enstrual debris e
).15 Production of large quantity of urine arr reat thirst are indications of:
A) Excess of ADH C) Excess of aldosterone :
4 \,BfDeﬁcxenqy of ADH - . D) Deficiency of aldosterone s
l6 /Secretlon ol vasopressm is stimulated by following factors, EXCEPT: J"P 2
4 \g}p e in blood pressure C) Decrease in blood volume -
Increase i in blood pressure D) Decrease in osmotic pressure
7. Stimulus for secretion of vasopressin is detected by: Q[m o ¢ Slewe
\KfOsmorcceptors in hypothalamus s C) Chemoreceptors in hypothalamus
D) Stretch receptors in/hypothalamu

B) Osmoreceptors in pituitary
Page 1 o1

DCAT TEST #3 bpotd Wi hobi
: Vaggprosge 30T e oY

Scanned with CamScanner



sTEP.
P
YOV EARDS A
ST=p JarTER FUT
— e BrIGHT
G PP M‘
. fos § - lites: '
A3 AT g an Y LT P "o it to diabetes mv'lmu'm ‘ ‘
5 w Ay )'r’!n"h ) f”””“’"} capon 7
D 1) tere ) sulin . d " v
!?N.r:z ;:a'..:;":.:r"”q" ',"""l! Vatsgyp LT | g b l';t ﬁ: ”.MP"""“. '
") HMaimg, 1 '-- Iy h“:“”‘“l k iee) '"'h”"' "’ hl’f’ { . 4
" pn..o”, f "‘"'arl I,\h;g", %o ?’r
C) 1, eficinl 1A e fondh friey ha,,j(,” y.
1) Hmmlnl e ntive ( Ve e mufu,u;,,_m 4
Cedback Hhani gy, >

T Ry el o ek
’ ' S Mgy A
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.'l'll " ( , ","4“05“‘”

0.21 4, il oy, ol
. Prod, tion § M Oxytocin iR :
,A’ ,,‘ T ot finy ¢ Induceg » L m“‘rl:jn]ir 1y 509 b"; e
!’ I ’ll,," ”“' ',,” ‘*1‘["?“ "y ocin '.‘

‘)122 / y
W hig I 43y ) Ogtoein, LTH

e of gy,
~ Pilohe,y l!lm: ,""""i"ﬁ Wnot (e, Ahout thyrgiqg ghind?
) Situated helow the larynx }

1 d 4 - £ P r Doy
V23 . Yollg fy '“'f""ln( I Printisces cortieal ((’o/’u F {
519 / A Hre Protie e by the thyreid | "nd'-gxm;rr:
[

’/;l}?:l.  Bntesiy, bel o X
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‘)42" Aﬁ ‘ ; : :
i 1y tnle Hfmin. cimil.rl’ ¥y ’”&ﬂ’ﬁ"‘fﬂ:n 3
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D25 gy i, contigey
/ Ml Anal
A) euling 14, A

) €uly Homin, cetien) !
¥ Lon
.20 el : are the tw Y in the same way:
A) Thytonine andg calcitonin ) oxine and tri-iodothyronine

. I Thytemie At mmlodothyrom i ine and Cacitadin
227 Wigh, levely of secretions by thiyrui
NAY T Crinng of "eproduction PN of

' ()] Pericng o Mapied gt owthy : A D) Stress situation
220 A Invye nigeq Indpole jy iency of;
A) Calcitoniy, 4 C) Cortisol
) Thyroxing D) Oxytoci
29 Crave's inense iy g ¢ ek
A)l ly;mthymidimn/h C) Deficiency of $TH
| UJ)Hy;mlhymulmyi‘f = D) Deficiency of Fsyy
30 r congenitally gltﬂ_gie thyroxine may cause following ptoms, EXCEPT:
A) Cretiniam ~© ' Coarse scanty Hair
) Abnormal devel | o welling on neck r V etloma
M Hypothyroidigm may position of excess i‘l(i J‘Mcrcased-

at as a result of wh

The condiging is know _ !

A) Guoiter ‘ 'G)'ﬂyxoedema :

B3) Ixopthalmie poiter Lo D) Grave’s disease
2 Puffidess of Warids and skin is the symptom of: e a8

; e C) Cretinism

A) Griive's digenne “y Pacathovms, ‘
1) Fxopthalamic #‘}M;IM ﬁ.(/'“ / | w‘):yyxpcdma, s %

" M » Cu fom conceniration Tnrth bltzg causes stimulation of the synthesis an release of:
W‘l{ah:il:min “‘“""‘3 l!‘"m' o genereay € C)lel‘wrmone g i

“B) Corliggl il B e D),Tet;n{ﬂdmhg_r:xin:;ﬁ "
, prumrﬂl\?&"ﬂ}:mhwrnllzﬂlon of the bonnﬂm!lgm~ hji.l‘m? ¢ overactivity of

A) hyronl ;l,'(lrl(l i g i ﬁ) ‘;)iaﬁ::yry’ G a

W Parathyroid plan N g e SRR M T ;
: wrmm}i]r which ensures hoth Ly equlat al(n;:‘lqdoulnhmmbody Is
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_isy
s e

Aldosterone I _ ; |
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MG TEr ol tigrey )

ves the level of Na' lo '

€ ! TR 1

) Parnthyroid hormone :' fue hody M1
D) Vasopressin

coid hormone thnt conser

wl mhlrrulncurli

Q.30 princij
/\Y/\hlnst(‘mm:
B) ('nlcnunin
retion of insulin may result in? }
o)l ‘yDL‘Iculccmin
D) ”ypocnlccmin )
lmrmuucs',’ : 4 “'

-~ versee

Q37 '
Al lypcugl)‘ccn_ml
,Hjﬂypnglyccmm : D) Hypa
‘hi ing i ti cluded In corucnslcmul
Q.38 \): ht:c,}ilnznlc"(;ll":hc following is ¢ n T erone '
B) d)ﬁisgl D) Aldosteronc - T
Q ﬁ;llr:t;:::lg;:;lnc: i > l‘cstoslcrdnc ( nndvoa c VL)
B) Noc—cpincphrinc D) Progeslcmnu - .
:c (o sodium a8 is to glucose: e o
Q40 A Corﬂ'so!Is alodf)s:cronc C) Insulin, ;nldnstemnc K A
, B) Aldostcr,onc insulin Aldosteronc cortiso (\uceeo’ ico!
Q.41 Which on¢ f the following is associnlcd with (levcl(_mnmﬂ of sccondary male
. istics? S o .
Cha;(z:i'r:)rglf:r:s : Cc Progg:s@_eyonc
B) Estrcjfcn;rf o‘%o ol eaur? D) COI‘UCOS?CIOHG
Q.42 Sccygﬁ pro Jotes the secretion of: o ' Dy
astric juice i Pan_crppucwrce
B) lmestinaljuicc ; D) Saliva, .-
Q.43 Gastrin is produccd under the influence of food In stomach:
A) Organic ' C)Fatty .
B) Carbohydrates VUY protein [
Q.44 Ripening follicle secretes: . y )
AYFSH & Gestogen (From ok
- B)LH ' : ‘ D) LTH o
Q.45 Ocs en exerts which res a sharp rise in LH ‘.’“‘P‘!‘. by the pmutary:
Positive feedback C) Feedback inhibition
B) Negative feedback 2Tl oy D) Pressure
f sex hormones, n:.
C) pwarfness
D) Gi gantism

Deficiency © |
mature sexually £ 5

Q.46
A) Failure to
to LH from pituitary:

terility
Q.47 Progesteron¢ is produced_ ’
A) Developing follicle £ uptured follicle
eneratin icleg, ' D) Graafian follicle
Q.48¢Cas o deve g T,e’\""’ﬂndof\ﬁ_ Coemn €
: i aracteris! : iy . C) Gonads
al charz D) Gonadotrophins
rders:

e as eqdocrine diso

Q.49
A) Insulin luca
: gon
) B) 'I:hyroxlne D) Androgen
Q.50 Which one 0 th ased in birth control pills?
'FSH
D) LH .

CHEMISTRY

lowing is 2 stronggle_ctrophile? ’

-‘C) Claa
' su-u , ‘ D) Cl
emgnts ybout qature of carbon and their primary suffix:
: ‘Primary suffix
—ane

turated carbon chain ' .
Srated carbon chain (one C=C bond) —ene

Ur satrated-carbon chain (two C=
o . =C bonds) | —adi
aturated carbon chain (two C=C bonds) —adli;l::-,

K the correct statements: ‘
g 3 C) Il and IV

DY IL M and 1V o
s Page 3 o

NMDCAT TEST # 3

[EEERSESJ SEE0 .

Scanned with CamScanner



YOUR STER .
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f' L )ﬂ"dﬂ:
v [ n(l t lp' '

' on whif'l hﬂ ¢ dﬂ“hl & ] i

( n ‘d th ‘,""‘I I"u ‘“r"("llr(' "r hy(lrﬂcﬂr )] f -

(l_'u_, ‘ VA,
- HC=C-CH-CH =CH, o,
ban? "
Which of the following is the correct IUPAC name 02'}:,;',:ll,cyllly]d;::rc::‘:nﬂ-yﬂc'4 v
-Methyl-1-penten-3: i, L%
\‘ffr.’?l-‘!:]dcthyl-I~pcntcn-4-ync g)) 3-Mcll1y|-3-PCﬁ‘°";|*y'.‘c % ,/

B) 3-Melhyl—4-penlcn~I-ync . e benzene? i,
Q.54 Which onc of the ro"()winglpllyﬂl(‘lll pProperties is not shown by g,
A) ltis an aromatic hydrocarbon y
B) It is colourlesg liquid at room temperature and one atmospheric pTCSSU"‘f
1s non-flammab|e . ' VM

D) It has peculiar smell and burning taste ) : y

Q.55 Consider the following structure of alkene:

gy )

H,C-CH,-cH,
H,C-CH, -CH, -C=CH-CH, |

The correct name of the giyen structure of nlkcnc,ﬁrci*or(]ing to JUPAC is:
A) 4-n-Pr0pyl-4-hcxcnc : '.n;Propyl-2fthCﬂe
B) 3""'PT0P}'1-3-hcxcne D) 3-n-Propyl-3-hexane
Q.56 Consider the following conversions: / & " y
CH,-cH, CH, - 1\'ﬂ”\>x~ﬂ;‘.’;w~- e 7

Alcohol :

-

_VVln'ch of the aboye Compounds represent X,y 7, respéctively

S o

D) Z-Propanol, 2-Bromopropanc, Propene %, i
Q.57 Alkanes have boiling points becauggt‘ Eyare_ ' - anq

T )

have - intermolecyly, fofcess.. Ly
W\TI:.OW, non-polar, weak V. & *)' b ) High, non-polar, weak
B) High, non-polar, strong " w 5 ¥ D) High, polar, strong

Q.58 r ¢xcess of methane is pSeq iﬁ"ﬂleal‘;«:‘a‘lxcf(ii)'h of chlorine
With methane, ghe major prodycy obtaiticd is:
Chloromethane 45 ©' R (@) Trichloromethanc .

B) Dichloromethape £ B 7 D) Tetrachloromethane

- N e ‘ R ;
).59 Consider the followin_g §ﬁt;'l‘temen1‘s about benzene:
L Itis highly unsaturated ‘h'ydro'carbon

w3 A bg

HI. The word bcnzeng comes from “gyup, benzoin” (a natural product)
IV. The word phjiu’c;’islderlved rom Greek Word phena meang «j bear ligh¢”
Which of the abov‘e-‘sftjl‘tements is/are correct?

A)lonly 4 C) Il and TV

B) Il only': T 0D \-DYL II, Ill and IV

0 Considél: lhgﬁ} 6Wing Structure of ﬁlkane: :
A, G -Cl—{;Cl-iz—-cl:l-l—?«l—?l I=~CH-CH;

Py s ';-.!
57 ’ CHy (IZH-_, CH; CH,
s (I:H2
4 g \ CH;
: 20 lkane according to IUPAC is:

Dhe rrect name of the given structure of a C :

:;@fgi;)yl-z;‘i;S-niméthyl heptane C) 4-n-propyl-2,3,S-Tnmcthlil hepta

_B) 233'-5-Tﬁ;ﬁ’éthyl-4-n-propyl.heptane D) 2,3,5-Triethyl-4-n-propy 1eptanc
Iy |
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.6l Consider the follbwing statements about hydrncurhons.
1. in saturated hydrocarbons (nlkanes) ... Carbon atoms are bonde
{ single covalent bond
The carbon chain wh 0 5

uniulurnled apen chain hydrocnrbons ‘
carbon-carbon mult ;z hond:

kenes and alkynes)
lic hydrocarbons __.. Carbon atoms are bond:
form of ring FEE

_ Contains benze 1€

I in
(al
i, In saturated cye

¢ hydrocarbons

1v. In aromati
hove stntement is/are correct? S
) and lgﬁ

Which of the &

A) 1only
13) 11 only ) C \
.62 wflli_cln_ql'j_lpe !'Q!ioﬂim; sl_atg_u}_cﬁ:}lsfn_l)_oy’l alkene and arenes is incorrect? .
Opin | Alkanss (g, b2 PR el ezene |
A) | They are less stable They z}ng:g stable

Thg‘x‘h} e delocal iz
electrophilic substitution

d pi electrons

localized pi electrons

"""" “addition | They nvolye

"By | They have

) | They Involve electrophilic a
7 | remetions ] reactions .
51, | pi electrons are less €x posed in it B ,-elqctr’é‘ng,m{cr ore exposed in it
. > T .—" — --"“‘>-_’ e e ' M
(.63 During (he nitration of benzene, a nitro grouf ﬁ@)'ﬂubgﬂtgtes at a carbon
atom, Which one of the following slnlemen#‘;'ives‘u we;art’a,il;g’émenl of the
0 QR v ‘l".

this carbg atom during the res 10

A '1‘3;}{}:'%‘\&[&'# ﬂ

e

2 ‘etrahedral

‘4'!1 | Planar
;i

etrapedral,

s [V nO4 -Vl.i SIC meﬁ%%.s\im& \S\'\
e v— \

C) 1,1-Ethanediol 2
~ D) Ethanol RN TN
LCr207 gives ca

%nzoic acid -~

0.66 D) Phenol \ *&DJ — l:
) about atomic —

CooW B'('

‘ Y_bj h {

@endet € &
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STZP.. ol

Q.70 Which of the following is incorrect statement about differences
ecn climination and substitution?
8 Elimination ) N '
A)_{ Less polar solvent favours it_| More polar solvent favours it _ ,
B) | A stronger base favours it A stronger nucleophile favours it
C) - | Steric hindrance favours i

,,,,, 't___| Stenic hindrance does not favours
Q.71 On the chlorination of me

Substitution

OW temperature favours it High temperature favours it .

A) O -Cl— 1 4 1

B H,C-H+Cr —s01 4 Hol

) CoHg 4 Cly gy e
elbow?ﬁ.':’i ¢ 4 PSHL 88+ OH — > CH3 - OH + (

Chemical reaction |

Q.74

1'.

ot St b

OyH

y 3
CHyCl —— @ o Hel
/

d
CHy~
4 CH //O :
E J-C\Cl — +  Hel ‘
C) Acid base reaction
) B-elimination reaction

Product
on

-

0

4
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STZP-- b TN
ivates the aromatic ring to further substitution

Q.77 A substance which deact
is called a deactivating substituent. Which of the following is strongly
hed with benzen€ ring:

deactivating group attac
o |
o(O)

A)

OH

B)
Q.78 Which property of benzene may be directly attrib
associated with its delocalized electrons?
A) It has a low boiling point
B) It does not conduct electricity ' o

C) Its AHr is positive
Jectrophilic substitution

\/D-H‘!lendstoundergoe

rather than addition reaction =

Q.79 M-—mﬂ H3-CH(C A 1S, W

) 2,2- thyl-4-ethy i —€) 24 diamety (e o
3 ! 4-eth D) 2,4-erhiedlyl-2—emylpenMne
¢ MOS  readily nitrated is:
: zene
DQ_‘K""7

)‘ . ‘QM& >@ 7 ‘ﬂra
o

¢ ._to prepare alkene?
| @
©7E>E

: ¢, the mixture of
on for the reaction is/are?
' the presence of dil H2S04
the presence of catalyst
: presence of diffused sunlight

e presence of conc. H2S04

ing it a very stable molecule.
the stability.

fl=

C) -358kJmol ™
D) +358kJmol™!
order to get good
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chtance of 25510 % K. In (he charging process, electro
pacitor has a ;"‘-'::....rerrcd to other one. Wi, the potential dir(mg d
Q8s AA one P'ul"‘ ;o' many clectrons have beey transferred? _;} - »_g
plates “:::M-‘(r'mm C) 710" electrons g*fb ,;t« Q:zne
10 tectrons D) 7-10” electror \ me:=-v
B) 70:_“" plates of & capacitor is given 5 charge apiers
One

(ndochon

-10C
a',h a parallel plate capacitor is connecteq toa
0.8% e whole of the charge drawn from the Source is storeq ;

=[5 ol

I

=
3
]
g
e
(1]
g
=
o
|
%
a.
=
3
g
a
o
4 0

D) The potential difference 4
89 A parallel plate capacitor has cs
dielectric is inserqeq betw ¥
constant of medium jgy

5 g

—_— N

Pacitance © Separation befw, ED plates is halved ang
& ES 7C. The dielectric

A Cv
'S:f/v'

F when immersed in

B)45s

) A parallel plate cay

oil_The dielectric
4.5

B)29
A battery jg Permanen
10 joules. When o - plat
now stored in jou'._l W : ‘:?
A) 40 ] Y
B)s5j

Which of the follow

I
A) SV

nd the energy stored is
$ halved, the energy
L Y.

The capacity of 4 par
electrical energy stored
400x]10° 4 ’
B) 8000x10° _ f ey S
apacitance offa Cap, : ' C= Ypulo
9o Yoylo™k
d o

7

,"r‘.“ (|0 (

e of 20 uC.
.‘ _T%e: ,\_6
( el
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VSRS A

.
.

C
es not depend upon -
edium between pla

B)
Q.99 Capacitance of a capacitor do M ‘
A) Area of plate aterial of the plates
B) Distance between plates 1 Rk e
Q.100 Whuthepow-tnidlﬂ' e across the capacitor is'd N i
Q'l“f:ﬂ’ ia“m ; 1 ‘C)Faur times constant
_P) Infinite ime

parallel plate capacitor are:
\-P')’ﬁuaﬂy spaced

D) Any of these

) is magnitude of charge o1 cither plate of
¥ -
- 'C)/Zero i &

D) 4Q T

: dt 6149,&6
C) One volt per coulomb A (
D) One volt per metre

arallel plate capacitor, A is:

C) Area of connected battery
D) Area of dielectric
g dielectric between its plates due to:

NMDCAT TEST #3
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BRIGHTE

.85 mm placed in A d
+ ¥
14?'

1
Q. , Il The arra of plates of 1 farad capacitor separated b
10" m z é"‘* :
) & 'ﬂ/ﬂ%
&

A)10°m?
Ollz B) IO n] D) 10-!5 2
. Ohm x farad = ? ' "
g\) l()‘hurgj-' C) Current
) Potential 1) Time éﬁ’&“ W
it is disconnected. A slg[l;ﬂ(%f %“ il

Q.113 A capacitor is charged with a battery and then it is

inserted between the plates then:
A) The charge in the plates reduces and potential difference increases -

B) Potential difference between the plates increases, stored ener
L 9

e '-;. »,

. g&ﬁgﬁéfgc remains

‘charge remains

the same :
\ &7 Potential difference between the plates decreases, stored energy decrea
unchanged : % ¥
D) None of these y ? %
ov POtenmi@erence The energy stored

Q.114 A 1uF capacitor ofa TV is subjected to 400

in capacitor is:

' ‘apphed across the plates
> ,fm] on between the plates

Direction:
Q.116 T /ho understood such things was to him a
In ;
From quh"ullv ?’ad’
holidays we got

Jurse, comparable to the
3 At QV@) \At dhe o
o the W

ed floor; like the ones which

?i spe fie p,hu

Over
he steps of sohtary travelers

| the way
e wa

.(j\‘.(// Gbﬂ.la(,%t

throat examination so long

Directions: entif 7 7
‘ he def ce towards
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YOUR STEP
‘ HEWARDS A
) BRIGHTER FUTURE!

T/
S // 'a pmaspat Y
z' “0‘%5-110“, it was quite obvious that Mead Middle school’s skills wé_fu
B P

Q.123 AA! the mati L COF
r opponent

superior over

D : . ale
Q.124 She blurted out and immediately took out the key which hung % a thread rOu
N ytes in thetr

Q.125 For eight years, he sought to find a means 10 aid the leucoC
A B C

bacteria.
Directional’ick the correct oPﬁon. )
Q.126 Alsconn ¢ o .
A) Chips saw them off at the railway station at the evening. *w
B) Chips saW them to on the railway station in the even_m%; =
C) Chips saW them of at the railway station 10 the evening. 5
Y Chips saw them [ ff at the railway station in the eveniis. . h@
Yo SHV Y el . ;
Q.127 e ' he cure for some slight ailment.
Yead up the cure for some slight ailment.
 da ﬁeﬁ:ﬁ the g)_r%of some slight
T AT
D)1 ead into the gr’evfg_r some slight
Iyoul

eﬁ'd.@—q = N2
bkt = (5D

d took up residence at Mrs.

nce at Mrs Wickett's.

k. up reside
k up residence in Mrs. Wickett's.

k up residence on Mrs.

across the deep valley below them because
wo slips on the road restricted him from

he decp valley below them because
ps in the road restricted him from

Jeep valley under them because
' the road restricted him from

y p hem because
ad restricted him fron

-
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STZPR..

a product of the oil ang £as indus

STEP
YT ESWARDS A

— A BRIGHTER FUTURE!
Q.3 . .

\A] What often gets overlooked is the fact that conventional plastic is made from fossil fuels
and is a product of the oil and £as industry and
B) What often gets overlooked is the fact that conventional plastic is made of fossil fuels =

try

C) What often gets overlooked js the fact that conventional plastic is made by fossil fuels and
are a product of the o) and gas industry

D) What often &ets overlooked g the
1s a product of the oj] and gas ind

Q.13 |
% stroked it and it Jeapy up onto the bench

\%hc

drove her whe y
D) The mother was er
drove her whole famil crazy.

135 I A

strived 10 be different from her
B) With rhmol&lﬂllgﬂﬁy
10 be different to her sibling

C) With 3 siblin
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